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Q.NO. Answers Marks
(with split up)
1. o 1
2. b 1
3. b 1
4. d 1
5. CHE-MCQ
6. CHE-MCQ
7. CHE-MCQ
8. CHE-MCQ ( BASED ON PRACTICAL)
9. BIO- MCQ
10. | BIO- MCQ
11. BIO- VSA ( BASED ON PRACTICAL)
12. BIO- VSA ( BASED ON PRACTICAL)
13. BIO- VSA
14, BIO- ASSERTION/REASONING TYPE
15. Ray diagram with arrows marked-concave mirror(object at 1
infinity)
16. | the refractive index of Ruby is 1.71 means ratio of speed of 1
light in air to the speed of light in ruby is equal to 1.71
17. | b
18. CHE- VSA ( BASED ON PRACTICAL)
19. CHE- VSA
20. CHE- ASSERTION/REASONING TYPE
21. i. Definition-magnification of a lens 1
ii. M=v/u %
-3=v/-10
V=30cm iz
1/f= 1/v-1/u %
=1/30-1/10
F=7.5cm i
OR
i. Dioptre %
ii. Definition-Dioptre 1




iii. F=1/p I
F=100/1.5 1
66.7cm %
Lens used is convex lens
22. i. Reason-stars twinkle but planets do not 2
ii. DEFINITION-Atmospheric refraction 1
23. | V=wW/Q 1
=100/20=5V Z
R=V/I 1
=5/2=2.5Q Z
OR
R=pl/A 1
R = p3L/(A/3) 1
Subatituting for R/R’ 1
We get R’= 540
24, CHE
OR
25. CHE
26. CHE
OR
27. BIO
OR
28. BIO
29. BIO
30. BIO
31. I.  Definition-principal focus of a convex mirror 1
Il. Use of convex lens %
lIl. Ray diagram —convex mirror(object between infinity
and pole) 1%
Nature and size 1+1
OR
i. Ohm’slaw —statement 1
Ohm'’s law-verification with circuit diagram 2
i. A=PI/R
=1.84X10°X 2/25 1
=0.1472x10° m? 1
32. i. Hypermetropia-definition 1
ii. Causes-2nos 2
iii. Ray diagrams for defective and corrective vision 2
33. CHE
OR
34. CHE
35. BIO




OR

36.

BIO




